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ícámoD étsoH

énlP .roD .hC .kleC íčlíD .žurD énlP .roD .hC .kleC íčlíD .žurD

1 731 26 2 991 × 1 141 36 2 402 ×
2 341 87 0 122 × 2 231 17 1 302 ×
3 × 3 ×
4 × 4 ×

.kleC 082 041 2 024 × .kleC 372 431 3 704 ×
1 341 27 3 512 × 1 131 87 2 902 ×
2 141 16 6 202 × 2 641 07 0 612 ×
3 × 3 ×
4 × 4 ×

.kleC 482 331 9 714 × .kleC 772 841 2 524 ×
1 261 95 6 122 × 1 341 36 2 602 ×
2 551 45 2 902 × 2 651 16 2 712 ×
3 × 3 ×
4 × 4 ×

.kleC 713 311 8 034 × .kleC 992 421 4 324 ×
1 051 97 0 922 × 1 071 18 2 152 ×
2 351 96 1 222 × 2 041 17 4 112 ×
3 × 3 ×
4 × 4 ×

.kleC 303 841 1 154 × .kleC 013 251 6 264 ×
1 551 36 2 812 × 1 251 16 4 312 ×
2 641 54 5 191 × 2 241 09 0 232 ×
3 × 3 ×
4 × 4 ×

.kleC 103 801 7 904 × .kleC 492 151 4 544 ×
1 131 88 1 912 × 1 241 87 2 022 ×
2 141 06 1 102 × 2 941 07 5 912 ×
3 × 3 ×
4 × 4 ×

.kleC 272 841 2 024 × .kleC 192 841 7 934 ×
  avtsžurd nokýv ývokleC 7571 097 92 7452 × 0   avtsžurd nokýv ývokleC 4471 758 62 1062 × 4
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ínáktu yknímdop ékcinhceT
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